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ROUND 23  / PUZZLE 3-Loop/Path

23.3 Cross Border Parity Loop

Draw a single, non-intersecting loop that has two states, which are white and black. The puzzle grid has heavily 
shaded borders, which define areas in the grid. Whenever the loop crosses a border (including borders inside 
an area), it changes state from white to black or from black to white. A black circled clue provides the number 
of cells in each area that the loop traverses in the black state, and a white circled clue provides the number of 
cells in each area that the loop traverses in the white state. Each “?” represents an unknown integer, zero or 
larger.




